Name:

3 Digit Integer Division

Score:
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Find the missing integers

()= 21 =25
-180 +©=-15
©+ 30 = 25

@ + 25 = .35

©+ 22 = 20

()= 20 =-1
-275+©= 11
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450 = ()= -
( )+ 35 =-

-23

54

-22



224 = (-16
(784) = 28
289 +(-17
+ 27
330 = (33
~ -16
-500 + (20 )
+ -11
2156 + (-12
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Answers

Find the missing integers

+ 21 = 25
-180 + (12 ) = -15
(750) = -30 = 25

-180 = (-18) = 10

(875) = 25 = -35
-198 = (11 ) = -18
(440) = 22 = 20

168 = [-12) = -14

+ 20 = -11

275 = (-25) = 11

450 + (-10 )=
+ 35
2320 = (-16
+ 230
-600 +
27
375 = (25
+ 12
231 = (-11
+ -15
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